<&lAta>

« K194 100% At A|Yo] Wast AL okt AU
- Vgl 2aF AR / ~25. 3. 18.(3}) 184]
- 18] & (59) AdRae As2 dejz 100% K

[2025 21942} =7t %] [2025 M3t FIH2F(14})] [2025 22t 1= (241)] [2025 M9JSt F=7p=F (2X1)]
F12E 24 27| | EHAHRY SES XM X3 FHl0] AME HAZHZHE
(DiHgehst HE (DiEgist HE (DlHSeichst M)

2025.02.22 2025.02.25 2025.02.25 2025.02.25

[2025 2i/mglst] [2025 21/mele] [2025 A/EiQls]] [2025 A1/migls}]
HE SEA =3 7|5A1 M AT S5=7| ehf

2025.0214 2025.02.08 2025.0215 2025.02.06

am |
aos | Qssmsno
wagieExa) |

Z3et o

+ SRS Y22 2025, 2. 25.(2h) 23 9Al~ 2= BAIALA
-EE3 JGEAZ W OIS A 230 SA300L

B S BI|HE MBS LT SIASELIC

~HIHI = 2 S BT O A SR

=Y BEUNE SRS LU0 BISTLICE SHRSME 28 N B

= 2]
el A2 HEERLICEH

=k
- ZEEHEIR MHRAWME. 2SS ES. Bl OHAMA =S
2 SESUMME S50 A=)



https://iphak.jj.ac.kr/iphak/index.do

LIS

SHHHTE

=71

- = HE FNEE DS AN, 585 g5 AL
-SESUNME SHAUSHAND SH S D5 FAD JEELICH

H1

SESUNM 2EX sl
= M3l stalHl S ¥k

re
I
e
s
i
!
=
e,
=
-
3
10
om
0:d
o
oM

1M ME301 8502 =, sFMSIHILE SHslHI

el =AM HELICL

HEHAH|I I A

=
[=]

SHELICL(=]

Lid =
=T R

L
H-Tr




2l E23 Rk 2065, 2 25z 08001300

LL 23 2228 B 2HE

i

Ch 2y
- QU2 CosA, RETES, 2y
- HEIE YR 20T A =0 wEh
- SEHES: HMAZHOG00~ e 0nH R s
- EH2RHM AL TEEEESrrE 2URE)
+ PEHTHA s B I R E HTHE, HSFs HEE sk

2l E25E 22N 225 RS, T M= ASE 2SN EEE
F27LICH

S22 g U 5 2= ofef Jhy A} slstel YR
SAArE =983t

=
s
A0
1o
=
L
=
e
iz
B
[
[=s]
oy
r-2
M
L_I.l
-
—
=
o

ZIEEZ)
=wOE3220- ZIGH WL EE 2
wOG3)2E0- 205 2 2 EEE
=OE3220- 2819, 2163(EHAF H|,

- BT
=509 20002 R, B EEE S (12

C = e JIERIY: #

P

wOGZE0- 2135
- S| mOGS) 220 2477
- =M 22| ®O63)239-5500- 2

0%
=
==
|+
=
m

EX=t]

==T

Ot S=& ZEsH0| 0 2 F 2 g 28 £= S350 S REtaorECt
==2 B2l mauas
= HEN N
| | ' b |
; = P E—
I i
| |
o= B B | v
N f
I = E . g
=T . i *
| |
HE0sE
=== S5 A Mieuaan
HE =5 W = ._ LB ]
L} ._Ii a i 1] ':i
] .
E - E— | —
" N
I ]
"= = B B “-
W = |
IhaSE | ]
= . e
‘2N§§§|
2oz | Duzas

AU B2 A M =auas

‘® = Eem”
. MR ——
: o ] X =
n 1 A T ,
o =
o I |
s i
m sml | ‘
] (=] I
Tim] =23
1]

LFe %

X SIEEHIE SIS0 AU T

RHEZH| 2LICH

1
g
rir

P E =

FAEAY] B2 a M su=as
PR E=T
= i's
=]




